N = 0 &8 AH Y H N AN
20218 & 20l & LB H S#F AL 22l
2AN: BEAL 22
HE: MY 22 29
el EBIIZ FIMR 2 (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
SPA LB 8,637,351 8,927,712 £290,361
Il 8,600
Al 8,628,751
MU E 22 2 1,300,815 1,554,123 A 253,308
J| 8,600
Al 1,292,215
HIIZ2 MKl 1,300,815 1,554,123 A 253,308
J| 8,600
Al 1,292,215
e & 2tel 792,387 867,330 AT4,943
101 @121l 193,642 189,918 3,724
04 JI2ZtH 22 XNEE S 193,642 189,918 3,724
OLAAMAAZEA 193,642
— M E FOULARI 2 167,103
ol 69,7603 x5 »22 x12& 92,084
U2 FEY 104,640& x5 x56 29,300
T4 69,7603 x5Y x4 x12& 16,743
cE X 69,7603 x5H x12& 4,186
2HANH| 2,000 x5 x252 x12& 3,000
cMEUZ2 BN 91,200 x5H x12& 5,472
cNMEE =S 150,224,000 *0.929% 1,396
- D258 s 150,224 ,000& *1.65% 2,479
cHAEE = 150,224 ,000& *3.43% 5,153
- =032 150,224 ,000& *4 . 5% 6,761
LOAMIRAYEE 5,153,000& *10.25% 529
— SZAEHLARL =222 10,869
- o2 90,5703 *3H x 10! x4 3] 10,869
— MY HIA R2Y 15,670
- o122 69,7603 1 »22 x7& 10,744
- FEEY 69,7603 x1H x4 2«7 1,954
-2 XY 69,760 x 1«7 & 489
2HANH| 2,000 x 1Y %222 x7& 308
cMEUZ2 BN 91,2003 x1H 7 639
cAHIHEE 2 14,119, 000& *0.929% 132
- D288 s 14,119,000& *1.65% 233
ALEE2 14,119, 000& *3.43% 485
=093 14,119, 000& *4 . 5% 636
LOAMIRAYEE 485,000& *10.25% 50
201 et A | 407,710 434,177 N 26,467
01 AFR2 22l dl 26,930 30,960 A4 ,030
Oget=gH| 19,790




2N BFALDED
E: JMHYE el 29

S HIIZ2 AN (&)
SA - BB B () - MM - BES Ol &t o San HmEET
—dEANsAHE QE8gX 7Y
80,000 »1CH+63 480
—0l=2 Xl 150,000 = 1CH »23] 300
—HNEANE Eax U= 1,200, 000& *23| 2,400
— Xots HIIZEM =22 (2I113])
600,0002 *43| 2,400
—NSH S AYAE BY 222
1,500, 000& 14 1,500
—&Jjotd el e =+=2 635,800 «12& 7,630
—HEA S I8 HA(HI)ZA =
= 1,100, 000& * 13| 1,100
—H20 =X 224 200,000 =122 2,400
EFAHZE AXE e 7Y
15,000 »100& 1,500
—-2J38 A== (28718) 20,000 *43| 80
OZzErd FRE (o, sEI|-4,5)
50,000& =44 200
Oz &l 3,770
—HEHE HIYZRN S A
8,000& x19&H 10 1,520
— MEZ2X 2tAlY| 3,000 x3H 250 2,250
Oul=l 3,170
- 2% 10,000& 234 230
— Ot& St 50,000 *234 1,150
— XS (4&29) 30,000& 23K 690
— &= (56t2) 50,000 *22H 1,100
02 2324l 380,780 403,217 A22,437
O332= MHMAZ31= 256,171
—S&¥H ¥ Y SEFEER 552
=N 120,000 *2CH 13| 240
22 104,000 1CH 13l 104
Exawl 104,000 +2CH =13l 208
—Xg MY Y SEEES 1,898
HIZ(158) 532,000 *2CH 13 1,064
A XS (8E) 331,000 *1CH*13] 331
RS 336,000 x1CH*13] 336
2 At 167,000 101 13l 167
— XEZA Y HIIZEAME 77,0002 601 x13] 462
— &8l EIJIZA =+=3 39,000& 601 x13] 234
— NS XA 65,000 +50H * 13 325
—SFNERE = 70,0003 +5CH 23] 700
—MEstA U RS MIeI(Lerny)
20,000,000& x12& 240,000
—MEEd Mdotx=E23 1,000,000& 123 12,000




2N BFALDED
Ha: MY ol 2Y

Sol: EHOI2 IMF 2 (9 &9)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
o9zl 7,582
~H2 2XA UYs
1,350 *4 *8H*952! + 1 JH A x90% 3,694
—HE2 FOUAALEL g
1,350 *4L*8H*252 + 11 A x4 & *90% 3,888
O XEHZ &EI|&E AtYI 1,500, 0003 *14] 1,500
OA & &l Xl 32,400
—JIAAE Rl
1,500,000 122 *90% 16,200
—®IAE XLl
1,500,000 122 *90% 16,200
O Xt A B | 75,427
— XY SFEUH(EEX 2 9H)
1,163.99& »12Lx4H*300 L » 10CH «45% 75,427
OZSAS HAOR & 9 & 7,700
— N JAHE AEDY
50,000 x23H *63 6,900
—H&E &8 =243l 200,000& *43| 800
202 odl 2,063 7,763 25,700
01 =AY 2,063 7,763 A5,700
O==Z A2 g 52,6003 x2F 123 1,263
A HRFA 2N 100,000 »2H x4 3| 800
206 M= dl 75,772 75,772 0
01 = bl 75,772 75,772 0
OMBE YALS AZA(MEH)
38,500&*1¢ *250! 9,625
OMBE AMIAE(LHA) 2
3,250& *10L*250 8,125
OJIH =8 RE7Y 1,872
- 2E85 2,300& 1204 =63 1,656
—FALAOIEE A FY)
3,600 xbkg*12& 216
OJIAHANE TMHE HOE 1,000, 000& *12| 1,000
OJIH%22 U2 (Hol2e)
1,000, 000& * 12| 1,000
O=EZ EAMNMTY 10,000& *5,000m* 50,000
OFIINM 22EIFY(AH0IE S 2)
250,000& 123 3,000
ONEE MM (Hat2s)PY
11,500 100X CH 1,150
401 Al HIL 2 THYI 83,200 109,700 26,500
01 A& HI 83,200 109,700 A 26,500
OZNOEGTE NEASN B2 ANLS 24 13,200
— M =28 2 &3 165,000 =404 6,600
- 38 ViHE 33,000 *100m 3,300




2N BFALDED
Ha: MY ol 2Y

el EBIIZ FIMR 2 (ol @)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
— 232 E xE(0Rel) 33,000 *100m 3,300
O ZEHI (A, 8EMdsS) =2l
60,000,000 * 14! 60,000
QMEHIIS A=EELEHS GIHM(ANE)
10,000& *1,000% &+ 0| € 10,000
405 XHo&HF S HI 30,000 0 30,000
01 AL 2B F SHI 30,000 0 30,000
O ADIE &Y S2(R0&37]) 2L-HE M
20 30,000,000 =1CH 30,000
ANesed 499,828 678,193 N 178,365
201 et A | 31,245 39,685 A8,440
01 At 22l ] 13,076 13,076 0
Ogbtx=2t| 13,076
—2A| SXZAH(EHDIH S)
330,000& 1CH *33] 990
— 40l Z2H E ¢ 237,000 *23] 474
— A2 sl 110, 000& = 1CH *x23] 220
— SASA 7Y 23,0003 x22t A x 128 552
—Jlg ¥4823H| 150,000& x4 3] 600
—Hx=ZdAx2 4,000
=2 200,000& x123] 2,400
A 200,000& *43| 800
- U 200,000& *43| 800
— ElHl H22ZA =2 110, 000& *43] 440
— XESIAIE HIIZA 222 (18 HEHOR)
2,000,000& *13] 2,000
2SN MNUSE PAUIS
2,000,000& *14] 2,000
—JIEt HE=E RYIISHHE Z2Y S)
800,000& *14] 800
— ABAIE H3Y B3H 1,000, 000& *13] 1,000
02 3524 H| 18,169 26,609 A8,440
O332= % HA 2,801
— KXot AIE M3 120,000& =128 1,440
— AEFHALES U ZSEEEHS 827
AEEZ(FE) 497 ,000& x1CH*13] 497
2204 330,000& x1CH =13l 330
— XEBAF Y HI|BAE 234
AEEH(5E) 77,000 «10H 23] 154
220 40,000& 201 *13] 80
— S RE S 150, 000& *23] 300
(@PNE=FaR=la:] 10,368
— X EEH & KA 10,368




2N BFALDED
Ha: MY ol 2Y

S HIIZ2 AN (&)
SA - BB B () - MM - BES Ol &t o San HmEET
CYEEH(GE) ¥ 220 "=
1,260& *400L*123] 6,048
- 2E(5E) 22l 2,400,000& = 1CH x90% 2,160
FH(22d) =clbl 2,400,000 *90% 2,160
OA&EHl Sl 5,000
—JIAHL,EIIAE |A 2l
5,000,000 » 14 5,000
202 o4dl 1,643 3,084 AT,441
01 = LH o4 4l 1,643 3,084 A1,441
OH=& A2 2 52,6003 x 1 %123 632
OElHl &=2& A2 2 52,6003 1 x43] 211
OXEsAE BRFE 0l
100,000& »2H 43| 800
206 M= Hl 236,940 258,424 AN21,484
01 =8l 236,940 258,424 A21,484
OsAsSll= % &&=+ MeldZ 2l 98,480
— OS2 [ 269, 0003 *16kg* 12& *90% 46,484
—MELSH 25,0003 x7& 128 2,100
—EHM(B2AEH) 59,4003 x10&S+128 7,128
—A4FHHLE €M (H> HEH2AS)
55,0003 x72& 123 *90% 42,768
Os¥g(==2x%) 45,0003 =180m" 123 *90% 87,480
OJIAHII=SE RELY 6,480
—5deg 2,300& =200Lx12& 5,520
—JIHLeg 2,500& +20Lx12& 600
— Fela 3,000& «10Lx12& 360
OJIA=cl& MM (ALH ME S 163)
40,000,000& =14 40,000
O=382 & 22 4,500
— 2H#+%5 =& Z(PON750MA)
400,000 +6CH 2,400
— Q=& > EI(PON7521)
350,000 »6LH 2,100
401 Al HI L 2T 230,000 287,000 A57,000
01 A& HI 230,000 287,000 A 57,000
O2aE2F HISX2 =SFANE 2= &£ WAl 130,000
— 245X 2 FE5X WY nH3A
15,000, 000& 2% 30,000
—25X ¥ ==X UWRIEIIN0 nHSA
15,000, 000& 2% 30,000
—SASFHII=S i 240 Xl
20,000, 000%22= 40,000
—94HEY 371 uA 15,000, 000& 2% 30,000




EX: sHAIL 2
HE: MY 22 29
e HIIZS MKl (2 &HH)
- RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OJIE ElHIZHAIE JIH ,EIIAIE B
100,000,000 =14l 100,000
dHAFHIYE ALY 8,600 8,600 0
J| 8,600
308 XX SHHSOIH 8,600 8,600 0
D] 8,600
12 JIEt8E S =2 8,600 8,600 0
OLEL FHNA SXNXH A
8,600,000 *13] 8,600
J| 8,600
SHANUXME 222H 6,830,678 6,873,586 N42,908
SEANUHXAHEH2H 6,830,678 6,873,586 AN 42,908
SEANHXNAMEH=Z2Y 6,830,678 6,873,586 AN42,908
101 e1214| 3,599 0 3,599
04 JIZtHIZ22XNSESES 3,599 0 3,599
OSHME HEZMHY XCO2I| 2 (AMEel
=288&g LE) 74,960 »4H 3L x4 3| 3,599
201 et 4,078 9,244 N5, 166
01 AP 2t 2] d| 4,078 8,764 N4 686
o2ds4 700
~SZUUNME BB e
70,000 *5H x23| 700
Ogbt4=24| 3,378
—SEHUXAEH AIRE SAI EH € =
[l 330,000 x1CH x23] 660
—S3HUXNAEH HIZN JdH=ESX 2L
80,000& = 1CH *63] 480
—S3HUXNAEH SAHEXNFL
23,000& x38F A %12 828
—S3HUXNAEH HIH dXIIE 2
15,000 x50 & 750
— S UXNHE Z2IO2FHIAE2(1TH)
30,0002 ~12& 360
— S UXNHE "0/ eEe2(10)
25,000 x12& 300
202 o4 | 800 1,200 A400
01 2Ll 800 1,200 A 400
OB HAHNE 2928 22 &9
100,000& *2H x4 3| 800
206 M = Hl 1,000 0 1,000
01 X2 H| 1,000 0 1,000
OstA0HX4HEH 222 M(IH,&8D])
1,000,000 = 14! 1,000




EX: sHAIL 2
HE: SHAHUNUXNAMAEH 2elSd
e SAUUXNAdE2YE (2 &HH)
4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 6,801,201 6,863, 142 A61,941
05 QIZ2tRE 2 6,801,201 6,863, 142 A61,941
Obdte=SH A Ml AlE 22| &l
3,414,807,000& 14 3,414,807
OMEHIISHE Yl AlL 22| ety
3,386,394,000& 14 3,386,394
401 AlEHIZL 201 Y| 20,000 0 20,000
01 Al&H| 20,000 0 20,000
OEZBNHXNHEE =5 ANE=S HES
20,000,000& = 14! 20,000
HEESS(SEAEZUCIAIRA) 396,463 389, 189 7,274
HEHAH KNS (BEALZ2EAIRA) 396,463 389, 189 7,274
FHOIS FOUXNKII2 =24 396,463 389, 189 7,274
702 1282 396,463 389, 189 7,274
MoIsEE2 396,463 389, 189 7,274
Ot AE22 FHOIS FUXII2 396,463
~ZYREE TBHLYS
3,263,944, 0002 *10%=*100% 326,395
- 23825 A
203,445,000 *10%=*100% 20,345
—gA2 HIIS wYUssR
278, 182,800& *10%=*100% 27,819
~HEHIIS BYasa
191,359, 0002 *10%* 100% 19,136
—HEIIA SEAE =22
27,675,510 10%* 100% 2,768
HESAAL (I AL 22 D) 109,395 110,814 AN 1,419
laEAAY| (B HAL2HCIARA) 51,332 48 911 2,421
Ol 2AY| (SHHAIE 2CAIRA) 51,332 48 911 2,421
101 2121 d| 51,332 48 911 2,421
01 = 51,332 48 911 2,421
ORYTLL(YBTIAT)
87,150 x19H x62 ! x50% 51,332
JIEFY (S ZAESEAIRA) 58,063 61,903 A 3,840
JE2AH| (BB AEZBAIRA) 58,063 61,903 N 3,840
201 LBt 9| 20,263 20,263 0
01 AP 22| d| 20,263 20,263 0
Ogbt4=24| 11,047
—Jl2 AI2E2E4| 100,000 x16H 1,600
— Z2lE SX22l] 237,000 *4CH 33| 2,844
— Z2A X224 330,000 x1CH 43| 1,320




A B3AE2e
HE: HWRARY (BB AL
el D2 (BFAL AR L) CrED
SA - BB B () - MM - BES Ol &t o San HmEET
—SAJ EE XA 330,000 »1CH *23] 660
—=2AI EH LA 150,000 = 1CH 43| 600
—SASX 7Y 23,0003 x62 A x128 1,656
— AR RoFH B
122,200 1 A+ 123 1,467
—Jlg F2ESHI 150, 000& *62l 900
O= &l 9,216
— MR S204A Y
8,000& x 16 x6 L x12& 9,216
202 o4dl 34,560 38,400 A 3,840
01 = LH o4 1l 34,560 38,400 A 3,840
ONHADLEZ ZHLH O]
20,0003 x16H 10| x 12 *90% 34,560
203 R =&t 3,240 3,240 0
04 FN2ELRZ=TH| 3,240 3,240 0

=
2
OZANELZCIMNEA 300,000& » 12 x90% 3,240




